
2023 PRIMARY 3 END-OF-YEAR EXAMINATION 

Name: 
------------ ( ) 

Class : Primary 3 ( ) 

SCIENCE 

BOOKLET A 

INSTRUCTIONS TO CANDIDATES 

1. Write your name, class and register number.

2. Do not tum over this page until you are told to do so.

3. Follow all instructions carefully.

4. Answer all questions.

Date: 26 October 2023 

Time: 8.00 a.m. - 9.15 a.m. 

Duration: 1 hour 15 minutes 

5. Shade your answers on the Optical Answer Sheet (OAS) provided.
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SUBJECT 
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BOOKLET A 

01 02 03 04 05 06 07 08 09 010 
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.. 
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SECTION B 

018) 

019) 

020) 

(a) Living things can grow
(b) The seeds help Plant A to reproduce/grow into plants or Seeds help

Plant A to continue its own kind to live on Earth.
(c) Plant A died as it did not have enough water to survive

� 

/� 
(a) CT] �

(b) The plant in stage Chas flowers/fruits but the plant in stage B does

not Or

The Plant in stage C has longer/deeper roots than the plant in stage
B Or

The plant in stage C has longer/thicker/taller stem than the plant in
stage B

(c) Yes. It has fruits/seeds/flowers

(a) J reproduces by spores but H does not.
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021) 

022) 

023) 

024) 

(b)
Living thing0 

(c) No. Plant K grows on land but G does not

(a) Stage R. Larva eats a lot and there is food eaten at stage R but not

at stage S

(c) The adult has wings while the larva does not have wings so the adult

can fly or

The adult can crawl/move faster than the larva as it has longer legs.

p u 

. (a) does not absorb water at all absorbs the most water 

(b) The beach ball floats on water/ has the ability to float.

(a) X. X bends the most. D is the largest when hanging the same

amount of weight on it.

(b) W. W is the least flexible so the basket with books will bend the least

Or hold the books properly.

(a) strength or How strong the material is

Variable Variable(s) that must be kept tho same 

type of material 

length of material ✓ 

thickness of material ✓ 
(b) 
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025) 

Q26) 

(c) No. Material B can only hold up to 35 kg but Dan is more than 35 kg.

So the hammock will break when he sleeps on it OR injure himself

Or he will fall.

(a) Any number from 7 to 13

(b) The more· the number of strokes, the stronger the magnetic strength

of the steel bar.

(c) Steel Bar N. It is able to attract the most iron pins.

Or It has the strongest/highest magnetic strength.

(a) (i) N (ii) s

(b) Unlike poles of magnets D and X are facing each other. So they are

attracted to each other.

(c) Toy train Fis made of a non-magnetic material. So it is not

attracted/repelled (by toy train E)

OR

Toy train F has no magnet inside. So it is not attracted/repelled by

Toy train E.
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